PRODUCT INFORMATION
MARIKKA CABINET
82057282

®0

&)




Y
ini4

flis
i

Yiri

A
W
o

\vavi
\uki
N
\;
N

s
irid
4

\"avi
NN

(H13)

Anti tipping (H15)

1 pcs Fischer S6
1 pc

G

= e




(H1) (H2) (H3) (H4)
Minifix Housing  Minifix Bolt Dowel @8x30 Brass Hinge
28 pcs 28 pcs 20 pcs 6 pcs
w3 allfs
(H5) (H6) (H7) (H8)
Magnetic Catches JP Screw @6 x 16 mm Plat Catches JF Screw @6 x 12 mm
2 pcs 4 pcs 2 pcs 4 pcs
& @
T ) 4;
‘ (> <0
} (H9) (H10) (H11)
i i JP Screw @6 x 12 mm JP Screw @8 x 25 mm  JP Screw @8 x 32 mm
i 24 pcs 2 pcs
(H12) (H13) (H14) (H15)
JF Screw @6 x 19 mm Anti tipping Handle Fischer S6
24 pcs 1 pcs 2 pcs 1 pc

*@ ===

—

‘ /
«'liiliiiiiil.i.iﬁ(
H12)

(H4) (H12)
Brass Hinge  JF Screw @6 x 19 mm
6 pcs 24 pcs
@”l/@ ﬁr
ot




<
D

X

i (H7) (H8) (H14) (H11)
Plat Catches  JF Screw @6 x 12 mm Handle JP Screw @6 x 32 mm
2 pcs 4 pcs 2 pcs 4 pcs
E




(H10)
JP Screw @8 x 25 mm
2 pcs

&

(H1) (H2) (H3) (H5) (H6)
Minifix Housing ~ Minifix Bolt Dowel @8x30 Magnetic Catches JP Screw @6 x 16 mm
12 pcs 4 pcs 8 pcs 2 pcs 4 pcs

phl
M
3




(H1) (H2) (H3)
Minifix Housing  Minifix Bolt Dowel @8x30
16 pcs 6 pcs 12 pcs

}(

(H9)
JP Screw @6 x 12 mm
24 pcs

oS










	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

